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Test 2
Binomial coefficients & Polynomial expansion
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Problem 1 [ 6 marks ]

Give the exact value of
X
x=1

7

(4−x)

Problem 2 [ 7 marks ]

Find the term in x11 in the expansion of
(
2x3− 3

x
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Problem 3 [ 8 marks ]

Find the coefficient of x6 is the expansion of
( 1
x
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Problem 4 [ 7 marks ]

Find the coefficient of x2 is the expansion of
(

x
p

− 1

x
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Problem 5 [ 8 marks ]

Consider the binomial expansion (x− 2)6= x6+ ax5+ bx4+ cx3+ dx2+ � � �

(a) Show that d

b
=4

(b) Find x such that x6= ax5+ bx4
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Bonus [+2]
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